
 
Latest Revision: 9/28/2021 

For questions or help with the installation, please call SDHQ Offroad @ 480-633-2929  
Mon.–Fri. 8:00am–5:30pm and Sat. 8:00am–3:30pm Arizona Time. www.sdhqoffroad.com  

Page 1 of 6 

 
 

Product Packing List 
Product:    SDHQ-11-1206-G1 
Description: 99-07 Ford Super Duty A-Pillar Light Mounts 
 

  (1) Driver Side Mount       SDHQ-11-1206-G1-A 
  (1) Passenger Side Mount      SDHQ-11-1206-G1-B 
  (1) Hardware Package      SDHQ-11-1206-G1-C 
   (4) M8 – 1.25 x 30mm S.S. Hex Head Bolt 
   (4) 5/16” S.S. Washers 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
Inspected and Packaged By:        Date:      



 

For questions or help with the installation, please call SDHQ Offroad @ 480-633-2929  
Mon.–Fri. 8:00am–5:30pm and Sat. 8:00am–3:30pm Arizona Time. www.sdhqoffroad.com  

Page 2 of 6 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

For questions or help with the installation, please call SDHQ Offroad @ 480-633-2929  
Mon.–Fri. 8:00am–5:30pm and Sat. 8:00am–3:30pm Arizona Time. www.sdhqoffroad.com  

Page 3 of 6 

 

INSTALLATION INSTRUCTIONS 
Product:    SDHQ-11-1206-G1 
Description:  99-07 Ford Super Duty A-Pillar Light Mounts 
 

 

Tech Notes 
Use Anti-Seize on all Stainless Steel (S.S.) Hardware  

No cutting or drilling required. 

Use a hood prop and mark the outline of hood hinges to assist in realignment during install. 
Approx. Install Time: 2 Hours  

 

***READ ALL INSTRUCTIONS THOROUGHLY FROM START TO FINISH BEFORE BEGINNING INSTALLATION! *** 

Parts List Hardware List Required Tools 
(1) Driver Side Mount 
      SDHQ-11-1206-G1-A 
(1) Passenger Side Mount 
      SDHQ-11-1206-G1-B 
(1) Hardware Package 
      SDHQ-11-1206-G1-C 

(4) M8 – 1.25 x 30mm S.S. Hex Head Bolts 
(4) 5/16” S.S. Washers 

Panel Removal Tool 
10mm, 13mm Wobbly Socket 

10mm, 13mm Deep Socket 
10mm Wrench 
3” Extension 

Ratchet 
Philips Head Screw Driver 

Hood Prop 
Marker 



 

For questions or help with the installation, please call SDHQ Offroad @ 480-633-2929  
Mon.–Fri. 8:00am–5:30pm and Sat. 8:00am–3:30pm Arizona Time. www.sdhqoffroad.com  

Page 4 of 6 

 

Installation Instructions: 
 

1. Unbox your SDHQ 99-07 Ford Super Duty A-Pillar Lights. Verify all parts are present and 
familiarize yourself with them.  
 

2. Flip up your windshield wipers as if you were going to be cleaning your windshield. Locate the 
small tab on the underside of the wiper arm where it attaches to the shaft. Pull out on the tab 
and lift the wiper arms off of the shafts and set aside.  
 

 
 

3. Open your hood. Use making tape to tape off the top outer edges of the hood by the cowl. 
Tape off the top back edges of the fender where the A-Pillars will mount.  
  

4. The plastic cowl will need to be removed to gain access to the hood hinges. Unscrew the (8) 
Philips head screws at the top of the cowl. Remove the (5) panel clips connecting the front of 
the plastic cowl to the firewall. Remove the antenna using the 10mm wrench. Remove the 
driver and passenger plastic cowl.  

 
 



 

For questions or help with the installation, please call SDHQ Offroad @ 480-633-2929  
Mon.–Fri. 8:00am–5:30pm and Sat. 8:00am–3:30pm Arizona Time. www.sdhqoffroad.com  

Page 5 of 6 

5. Set up your hood prop to support the hood as the hinge bolts are removed. Starting on the 
driver side hinge, remove both factory bolts. The front bolt will need a 10mm wobbly socket 
and the rear bolt will need a 10mm deep socket. ** Mark the outline of the hood hinge to 
assist in alignment during installation. ** 

 
6. Align the driver side A-Pillar mount on top of the driver side hood hinge. It is a tight fit to align 

the A-Pillar mounts. Hook the rear mounting face behind the hinge and slide forward to fit the 
front mounting face.  

 
7. Thread (2) M8 bolts and washers loosely to secure the mounts.  

 
8. Proceed to the passenger side. Repeat Steps 5 – 7 on the passenger side. Align the hood and 

tighten the hood hinge bolts. Reverse Steps 2 – 4 to install the plastic cowl and windshield 
wipers.  

 

 
 

9. Installation Complete! Install your lights and wire. Enjoy your new SDHQ A-Pillar Light Mounts!  
  
 
 
 
 
 
 
 



 

For questions or help with the installation, please call SDHQ Offroad @ 480-633-2929  
Mon.–Fri. 8:00am–5:30pm and Sat. 8:00am–3:30pm Arizona Time. www.sdhqoffroad.com  

Page 6 of 6 

 
***Double check all hardware is installed correctly and tight*** 

 
***Re-torque ALL bolts after 100 miles*** 

 
 
 

 
 
 
 

 
190 S McQueen Rd 

Ste 109 Gilbert, AZ 85233 
Phone: 480-633-2929 | Fax: 480-633-1791 

www.sdhqoffroad.com 
 
 
 

Follow us on: 

 Facebook   Instagram 
 

http://www.sdhqoffroad.com/

